RCX210B / RCX210C
SUPER SLIP-ONS®, BLACK / CHROME

H-D SOFTAIL
07-UP FLSTC, 07-10 FXST, 07-10 FXSTB

PARTS INCLUDED

Ref. Description Qty
1) Muffler Assembly (Chrome) 2
2) Front Headpipe Heat Shield (Black or Chrome) 1
3) Rear Headpipe Heat Shield (Black or Chrome) 1
4) Passenger Peg Mounting Spacer 1 <
5) Threaded Muffler Bracket 4 >
6) Hose Clamp, #32 2 -
7) Hose Clamp, #28 4 ©
8) 1/4-20x3/4" Hex Head Bolt 4 g
9) 1/4” Flat Washer 4 r:r
10) 1/4” Lock Washer 4 S
11) 3/8-16x2" Socket Head Cap Screw 1 ot
12) Black Endcap 2 g

373 Mitch McConnell Way ¢ Bowling Green, Kentucky 42101 ¢ 1-800-360-0915
)\ fax: 270-842-9527 « email: rcc@rccomponents.com

www.rccomponents.com



chris
Stamp


RCX210B / RCX210C
SUPER SLIP-ONS®, BLACK / CHROME

H-D SOFTAIL
07-UP FLSTC, 07-10 FXST, 07- 10 FXSTB

NOTE

RCX exhaust systems may not meet EPA and/or carb emissions in the State of California or other States with similar
emission control restrictions. End user of product shall determine acceptable use in compliance with local and federal
laws. User of product assumes all risk and financial obligations in violation of such regulations as a result of vehicle
inspections or emission tests.

INSTALLATION INSTRUCTIONS

1) Make sure the motorcycle is cool and place securely on a service lift or center stand.

2) Loosen completely the clamps securing the stock heat shields to the front and rear headpipes.
Remove the heat shields from the headpipes.

3) Loosen the clamps securing the stock mufflers to the head pipes. Remove the bolts/nuts (2 per
muffler) securing the mufflers to the muffler mounting bracket.

4) Detach the stock mufflers from the crossover tube, and slide them off of the stock headpipes.
Remove the stock muffler clamps from the mufflers, and set aside for use with the RCX Super
Slip-ons.

5) Using the two supplied black endcaps, plug the open holes on the crossover tube. (Fig. 1)

6) Remove the right side passenger footpeg from the footpeg mount. Set the footpeg aside.
Remove the right passenger footpeg mounting bolt, and mount.

7) Place the supplied passenger footpeg mounting spacer under the footpeg mount. Using the
supplied 3/8-16x2” socket head cap screw, secure the footpeg mount and spacer to the
motorcycle frame.

8) Reinstall the passenger footpeg to the footpeg mount.
9) Feed two #28 hose clamps into the brackets on the new front heat shield that will be positioned
over the headpipe area. Feed one #32 hose clamp into the bracket that will be positioned over

the new muffler.

10)Loosely place one original muffler clamp onto the notched inlet of one supplied chrome muffler.
Place the muffler inside the front heat shield.

373 Mitch McConnell Way « Bowling Green, Kentucky 42101 « 1-800-360-0915
) fax: 270-842-9527 « email: rcc@rccomponents.com
Www.rccomponents.com




RCX210B / RCX210C
SUPER SLIP-ONS®, BLACK / CHROME

H-D SOFTAIL
07-UP FLSTC, 07-10 FXST, 07- 10 FXSTB

INSTALLATION INSTRUCTIONS

11) With the muffler and heat shield together, slide the muffler onto the front headpipe outlet. While
fully seating the muffler onto the headpipe, rotate the heat shield into place over the headpipe.

12)Using two supplied threaded muffler brackets, 1/4-20x3/4” hex head bolts, 1/4” flat washers, and
1/4” lock washers, loosely secure the muffler to the front muffler mounting bracket.
NOTE: The threaded muffler bracket will be placed inside the brackets welded to the muffler.

13)Position the muffler and heat shield then fully tighten the muffler mounting bolts/nuts. Fully tighten
the muffler clamp. Fully tighten all hose clamps.

14)Repeat steps 9-13 for the rear heat shield and muffler. (Fig. 2)

15)Clean all fingerprints and grease from the exhaust system prior to starting the motorcycle.

373 Mitch McConnell Way ¢ Bowling Green, Kentucky 42101 < 1-800-360-0915
)\ fax: 270-842-9527 < email: rcc@rccomponents.com
www.rccomponents.com




